e S i i

g T e, ¥ s

=

Genoral Mathematics A L.K.No. 111 Paper Code No. 7261 etk ) J =
p 7.0 0 B 4

aper Il (Objective) SSC - A - 2021 (Group | o/ ) GAS) 3
Time Allowed  : 20 Minutes SSC (Part - ) e 200 &=
Maximum Marks 15 Session (2017 -19) to (2020 -22) 15 ¢ /./J

[ETPRETTRY

: =ededt S s 3 bl 1R ena I Esi L vy g6z p L 25 D,C, B, A Al § g
_(nn‘jw.,«lf.uﬁuf.wy‘(,( L/é/&b’LLfJu:}buL/’c gy

Note : Four possible choices A,B,C,D to each question are given. Which cholce is correct, fill that circle infront of that question
number, Use marker or pen Ink to fill the clrcles. Cutting or filling two or more circles will result in zero mark In that question.
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2%+ ¥%) (D)

4ab (C) a%+b? (B) -4ab (A)

(a+b)2+(a-b) =2 2w
(1)

e ) (a-b) (© (avd

P (B a- b (a)

(a+b)(a®-ab+b%) .= 21 (2)

A Linear Polynomial is of degree

3 (D 2 (© 1

ety on ¥ L?J/?/ ) ..l: 3)
B 0 (A

- 2 2
HLCF of 2x"+3x+1, 2x"-x-1 is

x =1 D) 2x+1 (Q) x+1 (B) 2x-1 (A)

<« ol ¥ 2x2+3x+1,2x2-x-1 4)

L.CM. x H.C.F.

First Expression

Lem. Jown o) HCE A © 1
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(B) Second Expression A% 1. (A)
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For each number

x ", the absolute value of " x " is denoted by :

0 M Ix] © -

De bbb S I X sl ()

x (B) x (A)

The number of Techniques to solve a Quadratic Equation are :

4 D 2 (© 3

: u__r?_’__/’LL/J’J(.:J;VJ.u »i (7)

In Matrices (AB)t =

A

bt k.t t

A'B (D) BA' (© B (B A (4

(ABY =2 2L uds | (8)

In a Square Matrix, the number of Rows and Columns is

2x1 (D) 3x2 (C) Same Ul (B) 2x3 (A)

el ol § UM s o G, (9)

If two angles are supplement of the same angle, they are

Transversal Angles & slibl* (D) Adjacent Angles

ol ¥ Un:»%ifﬁdr)l)d‘vg PR A (10)
&34 (C) Unequal (rbe# (B) Equal (i (A)

The number of Medians in a Triangle is :

2 DO 4 (© 1

e &n s J Uty o 2l ..g (11)
(B) 3 (&)

The Medians of a Triangle are

Concurrent )r}'{.lz'ﬁ 4l (D) 4 (C) Non- Collinear br’f/{ (B) Collinear L7 (A)

ULt Gl £ 2t | (12)

Area of an Equilateral Triangle with side ' a ' is :

2 2
J% D) \J'%'a_ @ bh (B —bh (4)

Dt J ¥ n 'a'dz AV I (13)

Area of a Square with side " S " is

s (D) 25 (O 4s

:f_tn.}'/(n"s“észﬁ@/l{‘ (14)
(B) S (A)

The Co-ordinates of the Origin are :

0 (O (1,0) (Q (0,1) (B)

Jt Lnwhwt £ oe i (15)
(0,0) (A)
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Note : It Is compulsory to attempt (6 -- 6 ) parts each from Q.No.2, 3 and 4 and attempt any (03)a .
from Part Il. Write same Question No.and its Part No. as given in the question paper

36=2x18 a (Partl) d;l,A? H | Make diagram where necessary. - hkﬂf"d”/uv .

q uestions

: ~ 2.9 ., S &) 24
If P(y)=3y>+ % +9 , then find P(0). ZpP(0) I P(y) =3+ +9 [
- 1 - = 3 ﬁ &
If x=2+{3 then find the value of —],2— -ér}” aif % W x=24 3 @
. z# (iii
Simplify. (743 ) (5+V2) & A )
3 e
Solve by using formula. . ( ab = ;15 ) ‘éd"'“b(u"’b )
Find H.CE. by Factorization. 6 par , 15 qrs g e endsf O
Find L.C.M. by Factorization. 21 a4x3y , 35 a2x4y P IS ()
Find H.CF. by Factorization. ool , TexeE Sk i
Write down the angles marked with Letters. i _,{_rr,w Linssl e j‘-;’] (vit)
«10° -
-~ > h L
f
In the figure, write the pair of Vertical Angles. » p /:11 7 /‘s " _zgﬁz_}zﬁug;ugu (ix)
JAvE

Factorize. 3a(x+y)=7b (x+y) A0 34
Pagtorize: 10%2= 7x =12 “2E6A G
If P(x)= 2x3-5x2+7x—7 , then P(2) =2 -'c,{r’l"&‘.; JP(Z);’M P(x) = 2x3—5x2+7x—7 A (iii)
Whether (x+1) is a factor of Polynomial 9 S M2y B (}//:f (x+1)Y (iv)
Solve. J2x—1=5 LS W
Solve, |x+1] =5 S (vi)
Solve. 3(x-2)< 2x +1 ' S il
The Diagonal of a Square is 14 cm ., Find its area. -’ci:r:l” S8 Ul WRET1 5 K 8 i

-ép‘” "a" il Jnc=61 Zcb =51 gﬂw,:,ljl;fs' (ix)
In a Right Triangle with Leg b = 5 , Hypotenuse ¢ = 61 , find Leg "a'

Solve by Factorization. 3x% 8x~3 =0 ..z-fd’dy.‘::u; W 4/
Solve by Factorization. (2x+1)(5x=4) = 0 -éd’ 67.’44,'9 (i)
Find the Determinant. [ 2 5:‘ _gr,t,» e (i)
1 4 :
Find the Transpose. c = [ RS b] -’c‘l'.:r:"" ):;jl} (iv)
T le d )
Find the Additive Inverse. 2 3 Bl st (V)
[ i B =0 UMt

Write the following Matrices in the form of Linear Equations. -éﬁduft}cgfu?bl/d»u_ffuﬁw_’ 5 (vi)
0.8 -0-6][x]_[1
0.6 08 |ly| |2
Draw a Semicircle with Diameter 4cm and Centre at "Q", _&_bosb id Ub}f" éJU 4cms"O" )} (vii)
) . T

Draw an Equilateral Triangle with length of each side 4 cm. -% 4cm JUJ é}&;ﬂé_b.wcwmd,v.ﬁ (viii)
Find the Distance between the points (a,-b), (b, -a). -ZEpPebuln £ (a,-b), (b, -a) b6 » (ix)

P.T.O.
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! (4) Solve by using Formula. 642 — 1O S e Lok () 54
‘ i
!

(4) Find the Square Root of : -I‘{(’LV d/h/"" ()

2
o NP PR 5 PR
X

|
|

@ (6) = c8' Sz poc= [T 2] wm=[21] 4 edn

If B= [-§ }1 ’ C=[-41 ;] then verify that (BC)t = ctBt

| (4) Resolve into Factors. axt szy2 + y4 &l d/.’"f- )
x+ 3 + 2 +5 5
(4) Solve. i a 5 < 1+ 72 p Zf WD 14y
(4) Solve by Completing Square Method. -gd’g_ 2L b’/f ()
2% — 4x + 1 =0

{(4) - mAC = 3.-9cm . mAB =4.3cm «mBC = 5-4cmufu)-{_('/.ABC¢.~t‘*(Jl) 81y

“EE e B

Draw a Triangle ABC in which mBC = 5:4cm, mAB = 4.3 em

and mAC = 3:9cm. Find the In Center.

) Ut K67 35 1 25512 LUt 5 ﬁu)'éi:(}" 2K &L (L)

Find the Area of a Right Angle Triangle with legs 12cm and 35 cm.

-3y =5 n « ;
) 2: ) 5}; st ES S a2 B b L oS () 9 1y
i . . x-3y =5
Use Cramer's Rule to solve the Simultaneous Equations,
2x - 5y=9
@) V67 = D(1,1) 5 C(-2,5) o B(4,-3), A(5,4) b6 Sk (L)

Show that the points A(5,4),B(4,-3) and C(-2,5) are equidistant

from D (1,1)
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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle infront of that question i
number. Use marker or pen ink to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. i
(a+b)2e (amb)? =2 140
a2+ b% (D) —-dab (C) 4ab (B) 2(a2 + b2) (A) (1)
2+ D) (a=b)P @ (a+b) B =1 (@A) (a+b)al-ab+b?) =2 (2) t
VIf 'x -a'is a factor of P(x), then P(a) =: : ¥ P(a) in L}/;Z(P(x)'x-a'ﬁ 3 i
E a ©® -a © 1 @® o (& i
The number of methods to find the H.C.F. are g e B J uﬂ) Lc’-/'lﬂl’" ,/yblf (4) i
1 D 3 (@ 2 (B) 1 (4 ]
P bbb £ =E x e sl (5) E
For each number " x " , the absolute value of " x " is denoted by : 1
! 0 (D) Ix] (Q -x (B) X (A) g
:TheSoluﬁonSetoflx-1[=4is: teenf ¥ x-1]= 4 (p)
{s.3}) o {-5.3}© {-5.-3} ® {5-3}@®

P

A Linear Equation in One Variable is of Degree b o ¥ T L (7)
3 @ 2 (© 1 (B 0 (A)

%2 +2x +1 =0 has the solution set : : €_¢:J’Kx2+2x+1=0 8
Does not Exist < @0 {0} © {-1} ® {-1.-1} @

et w8 L SARS T (9)

:Co!umn Matrix ._JEJ( (D) Row Matrix /5,5 (C) Scalar Matrix J5AC (B) Identity Matrix ._JL?JHQ/J (A) :
Dtk g L et (10)

A Matrix consisting of One Row is called

D S TP TP U ———

The Sum of the Angles of a Triangle is
1
i 90° (D) 180° () 270° (B) 360° (A)

1
.S —_— . ;
Circles with Equal Radii or Equal Diameter are called Jr U L S L Uil (11)
Semi - Circles «bisd (B) Concentric Circles c.fb?}ﬁ (A)
Equal Circles emf (D) Concyclic Points LB (Q)

| (D ———

< JJ.:JL»’- J ULl 2 alb il (12)

The number of Medians in a Triangle is :
4 (D 3 (O 2 (B 1 (4
“_.—A—___——— . -
Cetld Bmie S B LY egn i Lekki (13)
A Line joining One Vertex of a Triangle to the Mid - point of its opposite side is called :
isector 4t ¥ ¢ (D) Angle Bisector —i#t § _sj (C) Altitude (. (B) Median ks (A)

|
i

| Side B
[ BRI 5
I rea of a Rectangle is : y 5 e (J‘}w‘ (14) 1
\ Ixb (@ +lxb (© Zlxb & 1 @&

ey P : : rngf¢ujﬁ:zr{zi (15)
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Note : It is compulsory to attempt (6 -- 6 ) parts each from Q.No.2,3 and 4 and attempt any (03) questions
from Part Il. Write same Question No.and its Part No. as given in the question paper.

36=2x18 (Partl) J;Lﬁ liMake diagram where necessary. - lfbguﬂﬂdﬂ/"UWJ

3 .
g P(-2)dn P(y)= y4+3%-y2+1 5 0 24

3
3
If P(y)=yl+ -ig‘-y2+l,then find P (-2).
Rationalize the Denominator. ‘J— - ‘!z _4:_[-,'&1’(-, g &/ i)
x +y
Rational Expression to lowest term. X2~ }’2 -2’&)_’ iui‘(}"c[ Vel (iii)
3y - 3x

In the figure, write the pair of Supplementary Angles. pj I'p,z‘ -#JL}RLU!!’JJ}“IlftJ:tP (iv)
m s g

L

= f.e %t

U Ui F 7 W)

Write down the Angles marked with

letters.
Find H.C.F. by Factorization. abxy , a%be -éﬂ"’rbbkédﬁdf (vi)
Find L.C.M. by Factorization. 2ab, 3ab, 4ac ~E e oot £k i
Find the Square Root. 16x2+24{xy+9y2 -é (,J‘" S i)
Solve by using Formula. (3p+q+ r)2 -gJ' = 4 ‘,( U5 (ix)
Factorize. 3a(x+y)=T7b (x+y) ..édy?’ (i) 3/,{)!:'
Factorize. X2~ 9x =90 287 i)
o1, x4t W e Bz K GEE GG S BL A i
Determine whether the Second Polynomial is a factor of the first Polynomial without dividing. x18- 1, x+1
Solve. 3 +3(x +1) = 69 ES )
Solve. J2x=1=5 S W
Solve. |x +1]=5 2 )
Solve. 3(x-2)<2x +1 -E’i:d' (vii)

a=3,b=4,c=? e hcalUllnLuia,b Bk U 1E K sl Nl i)
Find the third side of Right Triangle with Legs a and b and Hypotenuse ¢. a = 3,b=4,c = ?

Find the Volume of a Cube of a side 4 cm. e semd’ ¥ J’ér,"' r? ¥ ool L (ix)
Solve by Factorization. X bx +5=0 -gd’df.;'u () 44w
2 3 4] 015 234 015/,,
If A=[155[, B=|2 3 6|thenfind (A-B) -+ (A-B)3 A= |15 5[, B= (2 3 6|/ ()
493 14-2 493 14-2
Find the Matrices Product. [ 53 2] [ -1 5] “Ze AN € Ul (i)
4 -1(]1-1 3

2 -3(|y 1
I 4 7 2 6
2 A+(B+C) I A = [; :]’ B=[6 5]’ C=[3 _2] Jiw

{1 3 _|4 7, _|2 6 .
If A-L 5]{3 [6 5] C [3 .2 then find A+ (B+C)

Write matrices In the form of Linear Equations, ['5 2] ["} ” [2] -u:"'{u:a/fJ ehlGaok § ude (iv)

[ BLO, |

e AR e
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Solve by Factorization Method. x2-4x-12 =0 _’g{d’;_ 3 /’ﬁdy.z (vi)
—5(}1” Mol £ (-2,-1) 11 (-1,3) b (vii)

Find the Distance between the points (-1,3) and (-2,-1 )-
<& batbidls LU 2EF 4 4100 S (vidi)
Draw a Semi Circle with Diameter 4 cm and Center at 'O '

Locate Points (8,-3) on the Number Plane. -é,;u: £ a1y il (8,-3) 46 (ix)

) : i (1"%)2 W L o=@z S (I sy
If % = {10 + 3 , then evaluate (P —%)2
(4) Find HCF by Factorization. _ir}"‘ {‘Eibl: 25 (57.‘“ (&)
S-8, %% - 7x + 10

(4) Resolve into Factors, vi+a &l Uz (D) 640y
@ (A+B) = At«B! S B=| 3 2l wa=[23] 4 @

| oas [ . = |IERE [ : g] then verify that (A+B)t = At +Bt

(4) Solve. X ; £ + % < Z ; £ -éd’ ()] 7/:‘Ulf
(4) Solve by using Quadratic Formula. S e g o 1 (L)

3x2+ X -~ 2 =0
-n A6 i g BJL 2 mBC = 4cm » mAB = 3cm AU ABC&»@‘J () ij‘Ulr

(4) <l ot In S e U~ C sl B,A

In a Triangle ABC, mAB = 3cm, and mBC = 4cm with Right Angle
at B, draw a circle through A, B and C.

@y o 2E2 00 S b Lo figEet L6 e K184 3 ¥ LI ()

The area of a Parallelogram is 144 cm2. Find the Altitude if the Base is 2 cm long.

(4) Solve using Matrix Inversion Method. -éd’ -y pd .__JGU,G" i 94y
3x -y =10
2x+3y=3

@ Ul £ e lisfs LI C(0,-2) ) B(3,-2), A(0,2) b6 Szt (L)
Show that the points A(0,2),B(3,-2) and C(0, -2) are

the vertices of a Right Triangle.

R g
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